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0000000A(Py) = (Pyihhot — (Pjt)eoa 00000 350000000
0000000000000000000000000000000000000000000
0000000000000 000000000000000000000000000000
000000 LO00O00LO0000000000000000000000000000000
0000000000 370000000000 A(P)O A(P)D LOODDOOOOOO0O0O00O
0000000000 RNOIOOO0O0O0O0O0OOOOOOOOOOOOOOOOO0O000000
00000 (000000000000000000034000000000000 (0000
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0 34 000000000O00000O00O000OO00O000O00000000000000
(LB(hot)) 000 000000000000O00O0O0O0D (UB(cold) 000000000 ODN
0000000

lattice (ot () cold LB(hot) UB(cold)
483 x 6 0.04485(54) 0.00550(16) 0.0249 0.0231
64 % 6 0.04568(37)  0.00697(25)  0.0241  0.0239
483 x 8 0.02312(18) 0.00640(15) 0.0138 0.0136
643 x 8 0.02102(12) 0.004769(56)  0.0126 0.0124
643 x 12 0.007412(90) 0.002075(53)  0.0039 0.0037
963 x 12 0.007256(79) 0.001482(48)  0.0039 0.0037

g3sgboboboboboobobooboooboboobooboobobobooboboooo

lattice  (Ps)co1a (P cold (Ps)hot (P hot A (P) AP

487 x 6 0.58111347(96) 0.5811273(10)  0.5814088(76)  0.5814875(91)  0.0002954(76) 0.0003602(92)
643 x 6 0.58119760(23) 0.58121330(23) 0.58151940(47) 0.58160140(50) 0.0003215(71) 0.0003876(78)
483 % 8 0.6002544(39) 0.6002574(38) 0.6003397(26) 0.6003617(31) 0.0000912(55)  0.0001097(56)
643 x 8 0.6002977(15)  0.6003163(16)  0.60023734(89) 0.60024163(90) 0.0000612(17) 0.0000755(18)
64% x 12 0.6253174(36)  0.6253176(36)  0.6253256(22)  0.6253203(22)  0.0000103(24) 0.0000137(25)
963 x 12 0.6253577(12) 0.6253584(12) 0.6253674(12) 0.6253710(12) 0.0000096(11)  0.0000124(11)

00) 000000000 00o0O000U0o0oooO0o00 300000000 ooooooooo
DDDDDDDDDDDDDDDDDDDDDDDDA(PS/t>DDDDDDDDDDDDDDDD
gobooobooobooobbuoobobooobooobbooobbuooboboooboboo
gboboboooobooboboboobobuobobooobOobooboL<LHhooooon
Oo0000ooo0 L=501000000

34



A/ T

221
20
18 4
16
14
12 r
10 |
0.8

0.6

8

Ng/Ny

10

11

0 3.8: 00 A¢/T* (00)00A(e—3p)/THO0)0 N, =6,8,1200000 N,/N, 0000
0000000O0N=600008000012000000000000

036 0000b0b00b0obooboboobobobobooboobooon

lattice Be(Ng, V) Ae/T? Ap/T* Ale +p)/T* Ale—3p)/T*
362 x 48 x 6 5.80379(34)  1.56(4)  -0.003(17) 1.56(5) 1.57(4)

483 x 6 5.80383(24)  1.42(5)  0.007(11)  1.43(5) 1.40(4)

643 x 6 5.804512(40) 1.53(4)  0.006(7)  1.53(4) 1.51(3)

483 x 8 6.06160(18)  1.51(17)  0.009(43) 1.52(21) 1.48(8)

643 x 8 6.06247(14)  0.99(10) -0.02(3)  0.97(12) 1.04(3)

643 x 12 6.3349(11)  1.81(509) 0.24(172) 2.05(681)  1.09(21)

963 x 12 6.33532(11)  1.35(27)  0.11(8)  1.45(34) 1.03(10)

3.24 000000

000000000000 00000O000000O0O00000 AeODODOO ApOOQooOoO
362x48x6000000000000000000

00000000 27jco0000000000O00OC0O0OODO0O000OD0DOOobOOODODOD
gboooobobboobobobbobooboboooboboboooboboboobonoobo
gboboooboobobooboboobobobooboboooboobob 3e0boboono
00000Ap/7T*00000000000000000000D000000 (343)000000
oooooo3200b00000

gogbbooboboodobboobobuooobooobboobbooboboooobooobo
gboboboooboobooobboooobbooobooboboooobobobobooooboooboao
O00000ODO0O0O00000 AeO0ODOOOODOOOODOOOOOODOOODODOOO
gbooooboob 3sbobuooobobuoobobboobooooboboboobboobo
ogoooooooooboooobobo NyODOOOoobOoooobboooobbooobobboo

35



A(e-3p)/T, —m—
CDelT e

0 001 002 003 004 005 006 007
1N?

0 3.9: 00 Ae/T* (00)00A(e—3p)/T4HO0)0 N, =6,8,120000000000000
0000000000000 N,=40000 [27000000000000000N, =4000
00000000000000000000000000 N,=400000000000000
0000000000000 A¢/T*0000 A(e—3p)/T*000000000000

og3ronNDOODbObO0obOoboboboooo

Ny  Ae/T* Ale —3p)/T*
6 1.511(24)  1.488(21)
8 1.106(84)  1.079(25)
12 1.349(265) 1.041(90)

gobooboboooboooboobooboboooboosryooboobobooobobboOobobn
A(e—3p)000000000A(e—3p) DO0O0OO0D0OODODODOODOOOOOODOAeOODOOO
gooooboobooboobbon

000000000000000000000000000000 0000000000
gbooaboan Nt_QDDDDDDDDDDDDDDDDDDDDDD I/N}ODODODDDOOO
OO0N=6,8120 300000000000000

Ae A(e — 3p)
—p= 075007, S

—_ = 0.623 £ 0.056 (3.55)

038 0000ooao

fit range Ny = 6-12 Ny = 4-12
Ae/T*  A(e—3p)/T*  Ae/T*  A(e—3p)/T*
0.75(17)  0.623(56)  0.83(12)  0.652(51)

x?/dof 3.12 6.38 1.75 4.05
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O000x%/dof 00 380000000

03900 N,=400000000000000 [27U0O000OO0O00OODOOODOOODOOO
[271000000000000 322000000000000000000000DODOOODOO
gobooooboobooooboobooonD Ny=4000000000N,=4000000000000
goboobooobooboooooN=4000000000000DOO0ODODOOOODOOOO
gbobooobobooboooobobooboooobooboboobbooobobooobo
googn

3.3 Uouooon

00000 SUB)0000000000000000000000000000000000
0000000000000000000000 NV;OOOOOOO00O000000000000
000000000000000000000000

000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000
0000 A¢/T* =0.75+0.170 A(e — 3p) /T4 = 0.623+0.056 0 00000000

000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000
000000000000000000000000
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040 SFtX[O

O00000O0SFtX O (Small flow time expansion Method) [1,2] D000000000000O0
oo bobobobobobobobobbobn
0000000000000 00000O000o0o0oooi4o]

4.1 SFtXOOogd

4.1.1 Gradient flow

gradient low 10 00 0000000000000 000000000000000 (0000
000000000)0000000000000000000000000000000000
0000000000000000000000000000000000000000000
0000000000000000000000000000000000 [39]

0000000 0gradient low00000000000000000 BY(t,2)0000000
0oooo 5o

oB,(t,x) = D,G},(t,x) = 0,Gy,(t,z) + f“bCBZ(t,x)G,‘iH(t,x) (4.1)

OhOoO0o00OO00DbOO0O0ODDO0OD0bOOB;(0,z)=A(x) 0000000000000
gooooooooon

G (t,x) = 0,By(t,x) — 0,B,(t, x) + f“bCBZ(t7 x)By(t,x) (4.2)

(41)0000000000000BYt,2)00A%2)0 40000 /8000000000000
000000000000000000(.1)000000000000000000000(4.1)
0 D,GS,(t,2)0000000000000D00000D00000D00000D0000000
00000000 gradient 00000000000

5S(t)

OB (t, ) = —W

(4.3)
000000(4.1)000000000000000000000000000O0O0O0O0O00O0OO0
bbb ooobooboooooooo
oo oouoouooooooa
ooooooooooo
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goooooon Bﬁ(t,x)DDDDDDEIEII:IDDDDDDDDDDDDDDDDDDDDDD
OOgradient low OO0 O0O0O00O0O0OOO0OOOODOODOOOOOOOOOOOOODOOODOO
gbooobooobooobooboooboboaoaoo

SFtXO0OOOOO0ooOooooooooOOoooDooOoooooOooooogooooooogoo
t00000000000000000000UO00UOO01]QCbOoUOO0OUOODUODOODOOD
gbbodobbuoobuooobobooobbuooobooobboobobooboboobboo
0000000000 00ooOOo0ooooooeo)boo00t—-00000OOOOOOOD
gbooooboobooo

4.1.2 OU0000O0ODOOOO0OOOOOOO0

OO000O00000D0000 gradient low DO DOOO00OOO0O0O0O

0000000000oo0O0U0o0OooO0o00oOoO0ooOOO0UOOO0OUOODO (oOoooo
0)0OOoO0o0oO00o0o0oooo0o00o0oo0o0o000ooo0o0oooooooooooooo
gboboobobooobooobboobboobobooobobooobobooobboooboDboo
gbooboboobobooboooboobobooboobobobobobooboboobobobon
gbooaboboobuadaoo

oooo0o0ooOOoOoooOoooOooobD QQecbooo so

S= 1 [deF @@+ [de 3 6D+ mba) (1.4)

9o F=dscbit

ooo400000 ¢ DO0000000
SA% u(x) = &0, A% (x) (4.5)

oooopbosésS=00000000D0000O0OOOODOOOODOOOODOOOODOOO
000000000000000000¢,0¢,(x)000000000000000000000
SO00000D000D000¢(x)000000006=000006500000 9,4 (x)000
ooooog

0S = /d4x8M§V(x)TM,, = —/d4a:§y(x)8MTW(a:) (4.6)

0oo0o0ooo00oo0ob00oo0Ob000000000000000 T, (x) 0000000000000
oooon

Ty (z) = g]g [Olw(x) - leogw(x)} (4.7)
godno

Ovw () = Fj (2)Fy,(z), O () = 0y Fp (2) Fpp () (4.8)
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000000000000 (D0oo-D00oo0o0o0oO0)0000bOO0o0oooOOoOoOoooo
000000000000 46)000000000000OODOOOOOOOOO 0Ty =00
gooooooooon
0ooooooooobooooooooboooooooooboooooooooooon
000000000 000000000000O000000ODDO00000O000DODO00000
000 470000000000 OO
goooooboooboooooooobooooooooboooboooooooon
O0000000000000@7)OOoDDoDOoOODOOO0OO0OO0OO0OOOO0OO0OO0OO0ODOe—OODOOODO
0000000000000 oo oooooboooa
000000000 1/e00000000000e-1/e=10000000000000000
00044 0000000000000000000C0OODOO0O0OOODOOOOOODODOD
gobooooooobobooooooooooooooooboooobooobooooooao
Joouooooooooooooboooooooooooooooooooooooboooa
doooooooooooooo
00000 gradient low D0 0000
gooobboooouooobouooooooobboooon Bz(t,x)DDDDDDDDDDDD
O000000000000000 4000000000000 000oOO0oDUoOOoooooo
BZ(t,x)DDDDDDDDD[IDDDDDI:IDDDDDDDDDDDDDDDDDDDDDDDD
0o0o0ooooooobobooooooooooooo oo oo oo oooooooooooo
0000000000000 0000000D000ODO00000000O0O0OO0
O0000SKX(DOOOOOOOooO)0ooo0O0oouoooooooooooooooooo200
00oooooooooo4000000000

O (@) = G, (2)G, (), Oz (@) = 6 Glp () Glp () (4.9)

0000000 (48) 0000000000000 U000DO0O00OO0O00DUOODOOOOUD
00000000000000000 V& 00O0O000000000000000000000
ooboooog @DDDDDDDAZ(&?)DDDDDDDDDDDDDDDDDDDDt>OD
0¢t000000000000000000000O0OO0O000MYDOODOODODOOODODOD
gbooobboobuoobboobuooboobbooboo

O (t,2) = ( Oiga(t,2) ) T+ 3 Ci5(D)[Oip () = (O (£, 2))1] + O(2) (4.10)
J
0000000 Iooooooooooooooooooooboooooooooon
Orpar(#) = ( Qi) ) T+ lim 51 (8) [ O () — ( Qi (t,) ) 1] (4.11)

O000000000t—000000000000(.10)0000 O)ooooOoOoOoOoOooOo
0000000000000000000000 O(x)000000000000 @w,,(t,:c)D
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gooooooon
(411))000000D00t—0000000DODOOOU0DOOOOODODODOOOODOOOOOOOD
0000000 ;) 000000000000000000000 [2,1)0000000000
00004100000 ¢;(t)0000000000 (1000)0000000000000000
000(4.11) 0000000000000 0o00o00U00O00 W7ooooooooooooo
O00000000000000000 [33)]000b000 g(t)00O0O0 2000000000
gboobbooboobboobuoobbobobooboonon
(4.7)00000000000OOO0OO000OODOOO0OO0O0OOOOOODO0OODOODOOUODOOO
gbobooobooobooobooobooobooobbooobooobboooboboo
gboobobobooooooobooboboboobobobobobooboobobobon
gboooooboidbobde—0000000000¢t—=00000000000D0O

4.1.3 NNLOOOOODOOOOOOOoOOD

SFtXOOOO0ODOoOOoOoooooOoooooOoooooooodobooooooooogoo
tdoooobobobobobo

a a 1 a a
Uw(t,z) = Gt 2)Gy (¢ z) — 15,“,Gpa(t, x)GpU(t,x) (4.12)
E(t,x) = iGzy(t,m)Gzy(t, x) (4.13)

D000D0400000000000000000000000000000 70000000
000 (1

T () = lim {e1 (£) Uy (£, 2) + dea ()0 [B(t, ) — (E(t, )]} (4.14)
0000 (E(tz)), 0000000000000 0 ¢#)D0000000000000000
0oooooois)
2

1 o0 © 92 l 1 9] © g l
)= g3 K ] ) = g3 K Lal an
—0 =1

0000g=¢(x)000000000x0000000MSOOOO000000000000
00000000000000000000F(2)FS(2) = G%(t,2)GS,(t,z) + O(t) 0000
0o4” =100000000000000000000000000000000000000
D04’ 0000000000000¢ ()0 NLOO (next to leading order) 00 &% 0 &Y 0
00000000 KY0 KY000000¢(t)0 NNLO O (next to next to leading order)
0o %0 ko oooooewoooo KV o0 kPoEY 00oooo
100000000000000000 [1,2,34000000200000000.(33)000
0000000000 [J0000000000000000000000 SU(N,)000000
nooox™o0Do00O00O0DO0D0O00O0O0 0000000000000k 00000000
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0000 [11)00000000000000o0 SUN,)ODODoDoOOoUooOoooooooood

7 11 7
) I Y
ky (pt) = gho=5;Ca, (4.17)
14482 16546 1187
ED(ut) = —BiL(ut)+C2% (- - In2 In3
1 (k,t) B1L(p,t) + C4 105 55 2+ I
34 14482 16546 1187
= C%(-5L — N2+ —"1In 4.1
Cﬁ( 3 L) = =155 135 1o 03 (4.18)
1 7 3
#Wm)=§&——W% %<1J (4.19)
(3) I 3 1427 87, , 27
ky” (u,t) = 52 /BICA+/BOCA< 16 (u,t) — 71440—#401 n?2 50 n3
2849 319 99
- o (-Yg + == In2- 1 4.2
i < TR VY TRy ST (4.20)
sjsisfslsisls)s
11 34 2857
Bo = ?CAv B1 = 301247 B2 = CA (4.21)
0000000000 A000000000000000
L(p,t) = In(24°t) + 75 (4.22)

00000 [33]00Euler-Mascheroni D0 v DO00O000000O0C,O
facdfbcd _ CA(Sab (423)

000000000000 2000000000S8U(N,)00O0O0O0OOCA=N.0000

4.1.4 NLOOOOOOOOOODOOODODOO

SFtXOOOODO (10 0000000000000 00000000o0o0o0oooog NLO
gbogobbooobbooobooobooobooobbooobooobbooobooboo
000000000 NLOOODOOODOO0ODODOOOOOoOooOogoooooo

T8 (o) =l { U lt.0) + 2 [B(t2) — (B2 (124)
ay(t) = QZ)ZQZP+%ﬁ¥&f+O@ﬂ (4.25)

T 2
astt) = 1 = Sl [1ve P o) (4.26)
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71
51 = 55+ 378 — In2 > —0.08635752003 (4.27)
, 21 B 2T
= =P 2l L 0.05578512397 4.28
T w4 9m? T s (4.28)

4.1.5 0O0O0OO0OOO

gboboodoboooobooboooooboobooobobooboooobooonoo

1
e=—(To(x)), p= 3 > (T (@) (4.29)
i=1,2,3
D0000ooooooooooooooon ehot/cd g ybet/cd annnpnoooooOO0
O0000000000SKXO0O000000

A(e—3p) Ale+p)
T4 ’ T4

(4.30)

000000000 0OoO00oO0o0ooOo0oo0ooooooooooo(3r, 38

4.1.6 ODOOO0OOOO

00000000y OODOoOOoOO0O0O p00OO0O0OD0OO00D0DO0DOOOODOOOOObODOO
gbobodobbuooboooobbooobbuooobooobboobboobboooboo
gbooooboobb pdbbOoO0oobDbOoOobbo0obbooobooboboobbod pOO
0000000000000 odL(w,t) 000 00000000000 g0O0OO0OOO0ODODO
gbooboobobobooboboobooboboboobobooobobobooooboboDbon
gbobooboboobodobobtudedbobobobouobaobuooooboboobo
gboooboboobooboooboo

SFtXO0OOoOOoOOoooOoo [8,29,9,12] 000p000000000O00OOOOO V8t O
gbogobooboobboobuooboobbpeobbooboonboo

1
= pg(t) = Jar L(p,t) = —2In2+ g (4.31)

000000 [33]0002000000000000 wOOODOOUOUOUDODUOODODOODODOD
god

p=po(t) = ~ 1.499 pg(t)  L(p,t) =0 (4.32)

po 00000 quenched QCD [11]0 24100000 QCD (31,320 000000000000
00000000 0000000000000 00000O0DOOODODOOOOO (31, 32]0

O000000p=wm(t)0 put) 000 0000000000000 00O0O0O0O0O0OOOOOO
gboogooboobooonooboobooon
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4.1.7 DO0O00OOO0OOOOOODOObDOODOg

SFt+XOODODO0OO00O0O0o0OOoDOOooOooOoodbod00 e - 000000000000O00ODO
t—- 000000 4140000000000 000OODOOOOOOOOODODOOOOOOO
O0000000oooooo[9,10,11,12,13,15| 0000000000000 00O0O0O0O tO
c— 0000000000 DOOO0O0OOOODOO:—=0000000000000000O00O00O
000 [29,30,31, 140000000000« 0t—-00000000000000000OO
gobooooboooooboouobt+—=0000000e—=000000000000O 100
U0e—-0000000000¢t—=000000000000O 200000

0000000000000 0000 44Y)ooooOooUUooOoooOOooooUOooooOo
O00000000000000 a0 LO(Leading order) 00 (4.14) 0000000000000
goog

CL2
Tu(t,@,0) = Ty (@) + Sy (@) + Ay (2) — + Cpu(@)(aT)?

+D,(7)(aAqep)? + aQSl'u,(m) + O(a*,t?) (4.33)

00007%0000000000000000000000S,,05,00060000000
A,0C,000D,0004000000000000000e«000000 (e?/1)20000
D000000 [36)00 (4.33)000006?/t00000000¢t=0000000000000
1000000«000000¢t—-0000000000000000000200000a—0
0000000000000 6?/t00000000000000006?/t0000000000¢
0000000 e—000000000000000000O0D000O0D0O00ODOO00O 200
?/t00000000000000000000000000000000O0C?/t000000
D000D00000¢t000000000 «00000000000000000(?) 00000
000000+0000000000000000000000 |29, 310
00000000000000000000¢t—-0000e¢—00000000000000
0000000000000000000 T(ta)~TE +tSu +a*C),+0(a* ) 00000
0000007 000000000100020000000000000000020000
0D00000000000SRXO0000000000000000000000000000
0000000 10200000000¢0620000000000000000000000
000000000000000000000000000000000
000000000000 000000000000000000000000000000
D00000000000000e—00¢t—0000000000000000000000O0C
0000000000000000000000000000000000000000TO00
0000 7.0000000000N2xN,000000000000000000000DOO0
a=1/(N,T.)000DO000D0OO00OOON,D000000000000D0O00O0O0O0OCOO0DOO00O
OV =(Nx)?=N3/(NT.)’00000000000000000000000000 Ng/Ng
D000000000D00000000000000000N,/N;=6,80000000000
0oo0o0oooo
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4.2 SrFtXOOOO

OO0o00O00SHtXOOOOooooo Qcboooobooooooooooo

4.2.1 0OUO00O0OO0OOOOO

0.07 ‘ ‘ — v ‘ 0.07 ‘ ‘ s ‘
polyakov loop histogram t/a” = 0.00 —— polyakov loop histogram t/a”=2.00 ——
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041:0000000000000000000000000Ns, 0000000

Ns Nt B Bc Nsep Nconf
48 8 6.056  6.06160(18) 20 10000
6.058 10000
6.060 10000
6.062 10000
6.065 11000
6.067 10000
64 8 6.0585 6.06247(14) 20 4750
6.061 103000
6.063 12500
6.065 25500
6.068 81000
48 12 6.333  6.33472(13) 50 52500
6.335 40000
6.337 52500
64 12 6.332 6.33493(17) 50 6000
6.3335 17500
6.335 5800
6.3375 9600
6.339 8800
72 12 6.334 6.33531(10) 50 8000
6.335 8000
6.337 8000
96 12 6.334 6.33532(11) 50 20550
6.335 12000
6.336 14400
96 16 6.543 6.54667(20) 50 4350
6.545 4800
6.547 4250
128 16 6.544 6.54616(23) 200 2750
6.545 3000
6.546 3000
6.547 3000
6.548 3000

gboboooboboobbobooboboobooobobobobobooobobooobo
googoogon
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4.2.2 000000

4.2.3 NLOOOO
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Ae/TP000000D0000000000O00000000000A(e—3p)/T*0A(e+p)/T'0
Ae/T*0000000¢t000D000000000DOODO000 41.7000000 O(a?/t)0
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